- OLLE
%9 #® E1E 201446 H18H
1 BEERE VS 2 AUES
= =
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1t : FiELT R KEE 3t : #RIEK K Rpfe
g gERX 79 : BB RGeS 74 R

mx | R | R | me |en | wmee | B | B | R | wee| T | =

1 | WE] & 4H +1 | 450 | & 4H +1 | -450

2 @l & | onT | 2 | 200 B | 1S -100 3

3 |mA| & | aNT | +2 | 460 | 4t | 4s | 2 | -100 | 11

4 |wa|l m | 3H | 1| -100] & | 25 | +2 | ‘140 | 12

5 |gdk]l & | 2¢c | 2| s0 | & | 2cx | = | -180 | 6

6 |&AmA| m | a0 | +3 | 510 | 4t | 6H | = | 980 10

7 | XWE| dt 3H | +1 | 170 it 4H = | 620 10

8 |wxkl|l % | 3Hx | 3 | s00 | 4t | aNT | -3 | -150 | 12

o |&Am| = | 4as | = | 620 & | 3NT | +2 | 660 | 12

10 |swa| %= | 7s | = |-22120] & | 6H | +1 |-1460 13

117 |wkl & | anT | +2 | 150 | 46 | 25 | +1 | 140

12 |mdtl &= | aNT | 42| 430 ] & | aNT | +3 | -180 6

DATUM&tit iFE
R ALLiES v -] 31 | 42
NELT /1B, 1 MR/ PR=E 11 &it 31 42
2hiE/RIRE -11 oREE /B -1 V.P. 6.55 | 13.45
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LT RIS RIEE TR
Tt B 7 REE It - 25 7 ER
B BRI 78 : BhR B A= 7a AR
mx | R | R | me |en | wmee | B | B | R | wee| T | =
1 NTo x 4H +1 -450 x 4H +1 -450
2 [52ple [ri] INT -2 100 [ri] 3H -2 100
3 | KAl & 3NT | +1 430 [£3] 3NT | +1 430
4 =] [ri] 4S -2 200 [ri] 3S -1 100 3
5 2] [ri] 2NT +1 -150 [ri] 2C +1 -110 1
6 =] 1t 4H +3 510 1t 4H +2 480 1
7 =] [£3] 3NT -400 it 4H = 620 14
8 NTo 1t 3NT -150 1t 3NT -3 -150
9 panyiic] x 3NT +1 -630 [ri] 4S = -620
10 | \W_/ x 7S -1 100 x 7H = -2210 20
11 | X it 2S = 110 [ri] INT -2 100
12 | it [ri] 3SNT +2 -460 x 3SNT = -400 2
DATUM#eit e
I MLTHR irIIEE v, 3] 24 17
=B/ SEL 10 FEE/MRE= 4 ait 24 17
Frec B/ R RK -4 EX B4 /ERRR -10 V.P. 12.31 | 7.69
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5 Rigésn VS 6 I H4Eh
H= A=
EEg i e EEag
T 7 Tt - e 7 I
& e 7 - 3R & - XNE 7 e
mx | R | R | me |en | wmee | B | B | R | wee| T | =
1 | E| & 4H +1 | -450 2= 5H = -450
2 [52ple x 2S = -110 1t 2C +1 110 6
3 panyiic] [ri] 2C +1 -110 [£3] 3NT = 400 11
4 =] [ri] 2S +2 -170 [ri] 2S +1 -140 1
5 2] it 2HXx -1 -200 it 2S -2 -200
6 =] 1t 4H +3 510 1t 4H +2 480 1
4 =] [£3] 4H -200 it 3H +1 170
8 NTo 1t 3SNT -3 -150 [£3] 2S = 110
9 panyiic] x 4S +1 -650 [ri] 4S = -620
10 | W&/ x oH +1 | -1460 x 7S = -2210 13
11 | X x 3C -2 100 [£3] INT +2 150 2
12 | ik [ri] 3SNT +2 -460 x 3SNT -1 50 11
DATUM%SEit e
E3FiTHba) I ERE v, 3] 14 | a7
TR/ PR -29 {aTsEEN/XI)/)N\oER 3 ait 14 | a7
oRFBIE/ I ERE -3 XUFa/5K B 29 V.P. 214 | 17.86
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7 BRRAZ1L VS 8 BEMER
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BRI BINER BMNER BARA—1E
| AR=z) R Bb& it : Bk R {AEE
B REX 7 : FhLTEK m : {B/Z88 7 : &K

mx | R | R | me |en | wmee | B | B | R | wee| T | =

1 |wxl %= | 4H | +1 | 450 | &k | 4H | +1 | -450

2 |mit| &= 2D 2 | 200 | 4t 2c | +1 | 110 7

3 |&HmAE| ® | 3Cx 200 | % | 3cx | -1 | 200

4 | B A& 3s -2 | 200 i} 3S = | -140

5 |mt| & 2c | 1 | s0 78 2Cc | +1 | -110

6 |FA| =& 4H | +3 | 510 | & 4H | +3 | 510

7 | B Jt 3H | +1 | 170 it 4H -100 7

8 |wE| 4t | aNT | 3 | -150 | 4t | 3NT | -3 | -150

9o |FA| =& 4s | +1 | 650 | % 4S | +1 | -650

10 |wal ® 7H = |-2210| & 6H | +1 |-1460 13

11 | Wx | it 2S = | 110 | %® 3H | -2 | 100

12 | &gdt| & 3D = | -120] zZ | 3NT | +1 | 430 | 8

DATUM%it ik
BRx{—1t EMER v, -] 27 | 20
) V350 -6 BT R/MBIEEE -9 ait 27 | 20
BEEERES 9 B/ DAL/ EhET B 6 V.P. 12.31 | 7.69
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9 EkigrhiE VS 10 ["&Fa
H= EiES
RighE I ERFE I'&FE igE
it : £H Rk EEE it : skir= IR : T2
B B 7 : EfEK g . B 79 AR
mx | R | R | me |en | wmee | B | B | R | wee| T | =
1 |wxl %= | 4H | +1 | 450 | & | 4H = | -420 1
2 |mt] 4t | 3NT | -2 | 200 | 7 2H | -1 | 50 6
3 | KAl B 3NT | +1 430 [£3] 3NT | +1 430
4 |wal & 4s | 2 | 200 | B |3Hxx| -1 | 400 | 12
5 |mit| =& 2H | 2 | 200 & | 3aNT | -1 | 50 6
6 |FA| =& 4H | +2 | 480 | 4t | 4H | +3 | 510 1
7 | XWE| 4t 3H = 140 it | 4Hx | -1 | -200
8 | wmE| it 3D | +1 | 130 | 4t | aNnT | -1 | 50
9 |Z@A]| 4t | 5Dx | -3 | -500 | % 4s = | -620
10 |wal ® 7H = |-2210| %® 7H = |-2210
11 | Wl *® 2H | -3 | 150 | %® | 2NT | -4 | 200 2
12 |®&dtl %= | 3NT | -1 | 50 % | 3NT | = | -400 | 10
DATUM%it ik
Ekigrhig ["'&Fa V. ] 38 | 16
2H/ERE 7 RIF=/HH%E -17 ait 38 | 16
TN/ AR 17 EER/EREK -7 V.P. 15.99 | 4.01




